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Q1)

a)
Q2)

a)
Q3

Q6)

QM

Electrical, Mechanical and Safety

" T]Jree resistances R,, R,, R, are éonnected in parallel across a DC supply.
- What will be the ratioof branch currents ], : L I, ifthe resistances arein |
. theratioR,:R,:R;::2:3:6 :

3:2:6- . b) 2:3:6 . o 6:2:4 - D 6:4:2
Aresistor R is measured using the V-1 ﬁlc:ethod in l_ab'.' The voltage and
current readings are 10.14 V and 5.07 mA respectively. Which one <fthe
following correctly express the value of resistance 2

2kQ b 200kQ o 2000Q d - 20kQ

Three currentsi, ‘i, i, are approaching a node. Ifi, = 10 Sin (400t + 600 A
andi,= 10Sin (400 t—60") A, theni,is:- o, '
OA - ‘ b)  10Sin(400t)A

—-10 Sin(400)A d) -5(3Sin400tA

1f the voltage applied to a transformer primary is increased by keeping
the V/f ratio fixed, then the magnetizing current and core loss will
respectively:- ;

decrease and remain the same

increase and decrease

. remain the same and remain the same

remain the same and increase

P,and P, -are. the iron and copper losses of a transformer at full load. If
the maximum efficiency of the transformer is achieved at 75% of the full
load, then what is the ratio of P, and P, ?

oy 10/16 - 34 D 16/9

A400V DC shunt motor having R,=0.5Qand R, =200 Q takes BA at
no-load. What is the ratio of full load speed to no-load speed, when the
motor takes 50Aon fullload ? o :
0.8 b) 094 o 06 d 04

A 220 V DC machine has an armature resistance of 1 Q. If the full-load
current is 20 A, the difference in induced voltage when the macaine is
runningas a motor and as a generatoris: - S

20V b) 0V c) 40V d 60V

—EEER-
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Q8) Six capamtors of different ratmgs such as C,>C,>C,>C,>C, > C; are
connected i in series. The equivalent capacitance will be most nearto:

a) C, - b) . C,+C,+C,+C,+C;+C,
o C, . d . G
Q9) On w]nchof the following cycle does amodern Steam Power Plant work?
a) CarnotCycle . . b)  Diesel Cycle
J c) Rankine Cycle e o O, ~d)  Bell-Coleman Cycle

QIO) Which of the following device is used to convert fixed DC to vanable voltage
and variable frequency AC? -

a) controlled rectifier B . b) chopper _
¢)  inverter ‘ _ S d) cyclo-converter

Q11)for an LTI system the Jmpulse response is given by h (t) = § (t). The step
response of the system is given by : - ‘
a) 5(t) b u) d ¢ d et

Q12) The gain for a system with G(s) 3/ls (s+2 )lisgivenby:-
a) 15 b)) 6 ¢ . = d 1

Q13) For a series RLC circuit, if the voltage across the resistance, mductance and
capamtor is40V, 70V and 100V respectively, then the supply voltageis:

a) 210V b 70V - o 50V . d 230V

Q14)In a 3-phase induction motor the value of maximum torque depends upon -
a) therotorresistance = ~ b) . .thestatorresistance

¢) numberofpoles - : d standstll] rotor reactance

Q15)The per unit synchronous 1mpedance ofa machme is2.0. Its SCR is:-
a 05 b) TI4E o B . d  0.707

Q16)A synchronous machine has its field on the stator and armature winding on
the rotor. Under steady running condition, the air gap field : -

4" rotatesatsynchronous peed w.r.t. stator

b) rotatesatsynchronous peed w.r.t. state direction of the rotor
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d)  anacronym for Always Be Careful :

) remains stationary w.r.t. rotor
d) remains stationary W.I. t. stator

Q17) when two transformers of dlfferent kVA ratings are connected in
parallel the share the load in proportion to their respectwe kVAratmg
only when their : - :

a) - efficienciesareequal - b) kVA ratings are equal

) per unitimpedance are equal d) equivalent 1mpedances are equal

Q18) Forhigh voltage low current circuit breaking the most preferred c1rc131t ;

_bregkeris: - _ ;
a)  airblast 8T P SR ) R 1 &
¢)  vaccum ‘ ‘ - d  anyoftheabove
519) Mertz-price protectlon scheme can be used for : -
a transformer protection : b) alternator protection
) feeder protectlon : - d) - allofthe above 7
20)- Gauge factor for a metalhc stralght gauge lies in the range of : -
a)  10-20 , _ b) 2-4
¢  100-200 _ -~ = d . morethan200
21) What are the main colors of aDanger Tag (Not to operate) ?
a Red & White - b)  Blue & Green
c) Black & Yellow ' d)  Green& Yellow

22) What dotheletters A, B and C stand forin the first aid assessment ?
a, thechecks must be done in alphabetical order
b) antibacterial, biological, chemical
¢)  airways, breathing, circulation

&

Q23) Which of the following otectron is used for the h1gh speed protectlon
for entire transmission ﬂ _ :

a) directional relay b) impedance relay

) differential relay : d) pilotrelay -

24) The tripped circuit breaker and blown fuses show that : - -
a the voltageis high v , . .
b)  toomuchcurrentisflowing § . o,
c)  thereistoolittle resistance in the circuit : R
d)  theacfrequencyishigh
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Q25) Anelectrical currentof.................. can cause extremely painful

shock, respiratory arrest and severe muscle contractions.
a  1-10ma o b) 6-25ma
¢ 10-40ma _ d  50-150ma

Q26) Which of the following will result in the lowest resistance and greater
risk of injury when shocked :- : ‘ _ :

a)  dirtyskin b)  dryskin

¢)  wetskin i 3 o d - thinskin

%27 ) When performing work the minimum distance away froma HV lineis: -
a)  5'(1.5m) B b 10'(3.05m)
c)  8(24m) _ d  15'(4.6m)
Q28) The following IS code classifies the equipments on the basis of class of
~ insulation:- ik R -
a)  189409-1980 _ ‘ ‘ b)  1S9420-1980
1S8420-1976 ‘ : - d  1S9000-1980

c
329) If a circuit is interrupted by putting the switchin neutral then: -
there will be no effect of switching off the circuit
b)  the circuit may get energized if an unintentional path to the earth is
" available . : o
¢)  dependingon thecircuitbeing interrupted éither'a'or 'b’
d  noneoftheabove '

havinga thick earth terminal j . o
having a longer earth . terminal compared to phase and neutral
terminals : W g

¢)  both'a'and'd' - ;

d)  noseparateprotection is provided

%30) Inathree pin plug tdp the protection is provided by:-
a
b)

-

Q31) The non ozone depleting alternative refrigerant for refrigerators is : -
a) R22 " b) R134a _ c) Ri11 & R502 .

32) The critical radius of insulation for a cylinderis : - ,
a h,/K b) h/K ‘cg K/h d K/h,
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33) The lumped heat analys1s is vahd for a Biot's Number value: -

lessthan0.1 . b)  greaterthan(.5
¢)  less than kT , “d)  greater than 1
34) The StDCth metnc air fuel ratio for a petrol engineis: - o ,
16:1 b) 14.7:1 0 8:1 4 121
Q35) Noslip condition means that the fluid layer sticking to the solid surface
-~ has:-
a)  zerovelocity : ~b)  freestream velocity

c) average of free stream velocity - d) . none of these

36) The isentropic process : -
hasalways zero entropy generation -
b)  isalwaysreversible adiabatic
¢)  hasalways zeroheat transfer-
d) neednotbereversibleadiabatic

37) The specific speedof : -
a, Kaplan turbine is higher than Francis turbine
b)  Peltonturbineis higher than Francis
¢  Kaplanturbineislower than Francis turbine
d)  Peltonturbineislower than Francis

38) The layout suitable for automobile manufacturing concernis:- *
a) . productlayout _ ; b)  processlayout
o) fixed position layout L d)  product and processlayout

39) Poisson'sratioisdefinedas:-
a)  lateral stresstolongitudinal strain
b)  lateral stresstolongitudinal stress
¢) - lateralstrain tolongitudinal strain
d)  lateralstrainto Iongutudmal stress

Q40) The maximum deﬂectmn of a cantilever beam of length ' sub;ected toa
- pointload W at the freeend: -

a) WI/3EI . b)  WIY8EI

¢  WIY/16EI - ‘ d - WI/48E1 ~
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Q41)
a)
b)
c)
d

Q42)
a)

c)

Q43)
a)
c)
Q44)
a)
)
Q45)

a)
c)

' Q46)
8

c)
Q47

b)

' ¢)
.d.)

In vapour compressmn system the increase in evaporator pressure
causes-*

decreasein COP

increasein COP

doesnot affect COP

CAalsSes Compressor Work toincrease

Forlaminar flow through pipes the fmctmn factoris given by:-

16/Re ‘ “''b) -64/Re

Re/16 . . ? d - Re/64

The mechanical efﬁc1ency of a compressor is given by : -

IP/BP _ : b BP/IP
IFSC/BSFC ‘- _ d)  both(a) and (c)
The angle of deflection of jetina Pelton wheel varies between : -
165—170° : _ b)) 155-160°
175—180° i : o d) | 145-150°

The materials havmg the same-elastic properties in all dn'ectlon are
called:- ‘
Elastic materials : b) Isotropic materials

Brittlematerials =~ d)  Ductile materials

The difference between the dedendum and addendum of a tooth is
termedas:-

Central distance ) ’ : b)  Backlash

Flank of Tooth TR ; 'd) Clearance

Ifboth S.F diagram and B.M. dlagram ofa antﬂever are parabohc the
cantilever lever will have: -

apointload atits free end '

an uniformly distributed load over the entire length

a gradually varying load from zero at free end to w per unit length at
the fixed end :

apointload at the middle point . - ,

Page 7
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Q48) An electric motor generally usesa:-

a) . flangecoupling - b) * flexible coupling
c) Oldham coupling - d  clampcoupling
Q49) Theriserin a mould should be located in such a way sothat: -
a)  itiscentrallylocated _ o
b) ittouches all the main branches of castings
c) itis last to solidify aetE o
d)  itisfirstto solidify so that the remaining casting cools slowly &
Q50). The gating system consists of : -
‘a) pouring basin, sprue, gates, riser and vents :
b)  pouringbasin, sprue, gates and riser k
¢)  pouring basin sprue and gates
d  sprueandgatesonly -
Q51) The primary purpose of the employee safety programme is to
preserve: - '
a) - mental health b)  physicalhealth .
¢)  emotional health “d) " allofthe above
- Q52) JSAstandsfor:- ,
~a)  JobSecurity Analysis ‘ b)  Job Safety Analysis
¢)  JobSeverity Analysis . d)  Alloftheabove
Q53) Electricshocks in electric arc welding can be avoided by : -
a)  changing electrodes with bare hands :
b)  changing electrades with wet gloves
¢)  workingon dryinsulated place
d  cooling electrode holder in water
Q54) Before eutting or welding a container which has held flammable or
‘ toxic substance you must : - - _ ‘ ‘
a)  cleanthe container with hot detergent solution
b)  putwaterinthe container - -
¢} notclean with steam at low pressure :
d)  notremoverust inhibitors, paints or other coatings tobe cut or weloed

S S
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55)

Intheevent ofan accident:
move the victim quickly if a neck or back injury is suspected

. switch off electrical circuits involved

touch the burnsif any and coverthem with clothings
stay away from the victim

Which one of the following safety precautions is applicable when
working with the gas analyser? ; :

ensure that the fuel tank is full before doing the test

the test can only be done at room temperature

the exhaust gases of a vehicle must always be tested in a well
ventilated area . ‘ o

all persons who are not involved with the test should leave the working
area ‘ 3 o

Never work with power tools or machines when youare:-

ina hurry :

tired

both (a) and (b) ,

none of the above 3

Which of the followingisfalse : -

halfthe workers injured on the job are new employees

always carry tools in your pockets

.ametal edge can bejust as sharp as the tools thatcut it

before using a machine, make sure all the movable parts are properly
clamped ‘ ; !

" Lathe Safety means :-

before removing your work from the lathe, do not remove the tool bit -
do not cut too deep or scrape too long .
hold all wood cutting tools firmly with one hand ‘

always leave a chuck wrench in a chuck

When working with paint or painting equipment, it is important to

" have:-

adequate ventilation and to avoid flames or other sources of ignition
always wear personal protective equipment when working with paint

.clean the booths and ventilation ducts frequently

all of the above

-
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Q62) Natlonal Song of India was composedby -

G NERAL KNOWLEDGE ’

Q61) TheSanchi Stup is 1ocated near: - :
a) Gaya 'b). Varanasi
¢)  Bhopal SR < d . Bijapur

a)  RabindraNath Tagore . , ‘ -
b)  JaiShankar Prasad ' :

¢) . MohammedIgbal

d  Bankim Chandra Chatterjee

' (%63) Which of the fo]lowmg is the currency of Japan? 7

Yen . b)‘ ‘Baht ¢  Yuan d) ‘Won

Q)64) Which of the following is the pubhsher of Employment News ?
Indian Express Group
Times of India Group :
c) Professional Management Group :
d  Ministry of Information and Broadcasting L , s

Q65) Who ;among the following is known as the Tragedy King of Indian

cinema? -

a) - RajKapoor b b)  Dilip Kumar

¢)  BharatBhushan d)  AshokKumar

%66) The Indian Institute of Scienceis located at -
NewDelhi - N b) Bangalore
- Chennai : - &  Kharagpur

67) Which of he following c1t1es is known as the Electronic City of India?

Mumbai b)  Hyderabad

¢)  Gurgaon B ‘d)  Bangalore

Q68) Whlch of the followmg is the name , of the first 1nd1genously d"Vveloped

Indian Super Computer? -
a) Gati . b)  Shakti c) Param d) Dharam

—RI—
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%6 9) %athakaii is a folk dance prevalent ir_lbwhich state ?

erala ' .Orissa -
¢’ AndhraPradesh L %, * d)* Karnataka
| 370) White'Flégisésy-mbolofi* ‘ W
‘ Peace = ‘ bg War
c) Friendship . : d  Truce

Q71) The number series given below, one number is missing. Find out the
missing number from amongst the choices. :
’ series—5,7,14,16,32,.............
a) - 34 “b) 66 c) 38 o d) 40

Q72) The number in the following boxes / square are filled on the basis of
some rule or analogy. Only one square has a question mark (?) in it.
+. Findout the correct answer from the alternatives ngenbelow :

118 27]
512 729| 2
343|216]125
a) 1000 b) 144 o 121 . A 64
Q73 Four groups of letters are given. Three of those have some similarity.-
Find the odd one.out. , : ; :
@ Bdf . b Cehd dfi - . d egj
374)' 1fDOG is 26; CAT is ? | e
32 b)) 24 o 28 d 25

375) ROME : MORE ::ROSE: ? o |
ORES b SORE o SOER d) EROS

Q76) Choosethe odd man out: - , -
a) . Lake b)  Sea ¢  River d) Pond -

Q77 In the question givéri below, arrange the given words in a meaningful
sequence and then choose the correct sequence from the alternatives.

D  Milkyway ID Sun
“II)  Moon ' . IV) Earth
V)  Stars :

A |
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a) IVILILVI b) II1, IV, 11, V, I

o ILILIV,V,I ; ‘ - d) LIV,IILIIV

Q78) Choose the most appropriate alternative asthe answer : -
Aclock alwayshas:-

a) battery a, b) - needles(hands)

¢) alarm R d  numbers

Q79) In the number series given below, one térm in the series is wrong. Choose

the wrong term : - )
Series:1,2,5,10,17,28 :
a) 2 b) 10 o 28 d 17

Q80) 'a' and 'b' are brothers. 'c'is the sister of 'a’; 'd'is the brother of 'e','e'is the
daughterof'b’. Whois the uncleof'd'? ) 7 $
a d b a ; 0 e ‘ d b

ENGLISH

Directions ( Q81— 85) : Read the passage given below and complete the
statements that follow with the help of given options.

Bina was probably ten. She may have been nine or even eleven, she
couldn't be sure because no one in the village kept birthdays; but her
mother told her she was born during the winter when the snow had come
up to the windows, and that was just over ten years ago, wasn't it? Two
years later her father had died; but his passing away had made no
difference to their way of life. They had three tiny terraced fields on the
side of the mountains, and they grew potatoes, onions, ginger, beans,
mustard and maize; not enough to sell in the town but enough to live on.

Q81) Bine wasaround........... old.

a) nineyears : “b)  tenyears

¢) elevenyears ' d  twelveyears

Q82) She wasbornduring........... seasomn. N
a) winter b) summer ¢  autumn d  rainy ®
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83)
a
b
c

/ SS 7
388)

Q89)
a)
Q90)

a)

e,
Q9D
a)

The family possessed........ ..

) Intheirfields theygrew........... '

Tenyearsago. .. .. PR

itrained very heavily B

the snow came up to the windows
there was neither rain nor snowfall
Bina's father died

twocows and a goat Bl

asmall house near the rhountains

three fields by the mountain side . =
threefields ontheriver bank - ,

cabbage, carrots, onions and wheat

wheat, rice, barley and maize -

ginger, beans, garlic and wheat -

potatoes, ginger, onions and beans , 3 €

Directions (Q86 — 90 ): Complete. the sentences given below with the
help of options that follow each sentence. Lo

........... Ganges is a holy river. N o

A b)  An- ¢) - The _d) - Noarticle
Thavebuilt........... new house. ' -
a b) an ¢ the d)  Noarticle-
Youshould save something. .. e -.arainy day.

on b for 0 in - d)  at
Theinspector willlook............. thecase.
‘at b) for ¢ in - d) into
Sheislooking.............. abook on the shelf.

on b) in ¢ - for d - out

Directions ( Q 91-95): Out of the four alternatives choose the word /
phrase thatis most nearly the same in meaning as the given word :

CORRECT

untrue b  ‘wrong © right  d)  false
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Q92) BLAME e | .

a) praise- = b) * accuse ¢ .. admire ¢) - understawd
Q93) DIM . | _

a) dull - b)  bright ¢  clear . d brilliant
Q94) DRESS T Ll

a) - bareness b) nakedness ¢)  nudity d  clothing = <

Q95) FAIR , gy
a) dull ~b)  clear ¢ ugly 4 foul

D1rect10ns (Q96-100): Out of the four alternatives choose ‘tbemml
thatis most nearly the opposite in meaningto the given word

Q96) CLEVER  ii 8 | |

a)  wise b  stupid ¢)  intelligent d)  smart

Q97) WISE | : |

a) clever  b)  sensible ¢ quick d)  foolish

Q98) STAND S e

a)  sit b)) walkk ¢  dance d  hear

Q9 SPEAK = , ,

a)  see b)  listen ¢  watch d talk

Q100) NIGHT

a) morning b) ‘evenin'g ¢ day d  noom

o]
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